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1. [bookmark: OLE_LINK13][bookmark: OLE_LINK14]Introduction
In this contribution, we provide simulation results of RLM and BFD based on simulation assumptions in [1].
2. Simlulation results
2.1 SSB based on RLM and BFD
Table 1-2 show the SINR measurement accuracy based on SSB in the different channel models (e.g., AWGN and fading channel) and samples (e.g., 5, 10, 20) for FR1 and FR2 respectively. The results show 5%, 50% and 95% CDF of delta SS-SINR.
Table 1：Delta SS-SINR on FR1
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Table 2：Delta SS-SINR on FR2
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Observation 1：When the sample number is 5, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -7dB when 1Rx is used.
Observation 2：When the sample number is 10, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -9dB when 1Rx is used.
Observation 3：When the sample number is 20, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -12dB when 1Rx is used.
2.2 CSI-RS based on RLM and BFD
Table 3-4 show the SINR measurement accuracy based on CSI-RS in the different channel models (e.g., AWGN and fading channel) and samples (e.g., 5, 10, 20) for FR1 and FR2 respectively. The results show 5%, 50% and 95% CDF of delta CSI-SINR.
Table 3: Delta CSI-SINR on FR1
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Table 4：Delta CSI-SINR on FR2
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Observation 4：When the sample number is 5, the delta CSI-SINR can be guaranteed within ±2dB if the target SINR is less than -5dB when 1Rx is used.
Observation 5：When the sample number is 10, the delta CSI -SINR can be guaranteed within ±2dB if the target SINR is less than -8dB when 1Rx is used.
Observation 6：When the sample number is 20, the delta CSI -SINR can be guaranteed within ±2dB if the target SINR is less than -11dB when 1Rx is used.
3. Summary

Observation 1：When the sample number is 5, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -6dB when 1Rx is used.
Observation 2：When the sample number is 10, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -9dB when 1Rx is used.
Observation 3：When the sample number is 20, the delta SS-SINR can be guaranteed within ±2dB if the target SINR is less than -12dB when 1Rx is used.
Observation 4：When the sample number is 5, the delta CSI-SINR can be guaranteed within ±2dB if the target SINR is less than -5dB when 1Rx is used.
Observation 5：When the sample number is 10, the delta CSI -SINR can be guaranteed within ±2dB if the target SINR is less than -8dB when 1Rx is used.
Observation 6：When the sample number is 20, the delta CSI -SINR can be guaranteed within ±2dB if the target SINR is less than -10dB when 1Rx is used.
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